Question 7:

Sketch the graph of v = Jx +1in [0,4] and determine the area of the region enclosed
by the curve, the s-axis and the lines x =0, x = 4,

Solution:

We hawve to find area enclosed by x-axis and

y=a.,.l'x+1

= vi=x+1 ---f1)
and x =10 - - -[=)
X =4 ---[3)

Equation (1) represent a parabola with vertex at {-1,0) and passing through
(0,1} and {0,-1). Equation (2] is y-axis and equation [3) is a line parallel to

w-axis passing through [4,[!]. So rough sketch of the curve is as below: -
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We slice the required region in approximation rectangle with its Width =ax, and
length=y-0=¥

drea of rectangle = yax,
dpproximation rectangle moves from » =0 to x = 4, S0

Required area = Shaded region
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Fequired area = [5\5— 1] square units
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